w8 A m & W
5 A B P ORE
S48 64 20H (B)#Eg
22 B T8 ABHE mE
oo B = Zh o/ s—kel B B 1B/ kg =
1 IHN ZEW KS 1 50 8A e
2
3
4| WYN =) 2% 1 47 10A AFLFEFD
5
6
7
8| wILPY "E IRE8 1 35 18A |200~180¢g 80
®]
0 RKPY RS isgls 1 20 5~10A D&
11
12
13
14 IWBL sX | B2 1 40 90~70¢g 50
15
16
17
18 &FIPY S%0 AlF 1 20 80
19
20
21
22
23
249Xy B0 AlF 1 50 120g AREFS
25
26
27 PUAR RIg ARBS
28
29
30
¥ TAKFS) Omid. ZFBFAXNZUET, B EHWDRSR
EHR = [ Ok « 1%k « 2#& 1 TEA 1 88 - SHREPAEF
Ok« » « HBEKFT \ i} 2 SFE=[EIED
18k« « - BIBKBIT KIS, FeDBIEZT 3 BB =ERIE0D
24k e+ « 28801KET CEfg. BEELLELET, 4 BEED
i 080-5661—-0372 5 Bi7 - EED
P ¥ & 090—9551-5232 6 B
St ff 080-4032—1253 7 BAANEF SIS
REeamiEm §¥h 090—-2895-0083 8 IR =[ELERh

B—ErRE SR

HFP=1800~




